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Math 102 - Spring 2012 - Test 3
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Instructor: Dr. Francesco Strazzullo My Name - }/

I certify that I did not receive third party help in completing this test. (sign)

Instructions. If you use graphic methods, sketeh the graphs and label significant points, like interscction
points or intercepts. Hach exercise is worth 10 points, unless otherwise specified. This is a take home test

which covers the 3/26/2012 contact time. Always use the appropriate wording and units of measure in your
answers (when applicable).

SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Find the rational root(s) of the polynomial 3z* — 17z% + 9z + 5. o
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2. Completely factor the polynomial P(z) = 6z + 272% — 272 — 54z + 30. You can use the fact that
32?2 — 6 divides P(z).
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4. The cost in thousand dollars for producing = hundred cars at a local factory can be modeled by the
function y = a* — 5a® 4 2z + 70.

(a) What is the cost for producing 500 cars?

(b) Find out the level of production that minimizes the cost and such a minimum cost.
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5. The effectiveness (on a 0 to 10 scale) of a medication ¥ hours after its administration is given by

113 + 201z — 1222

k) = .
® 322 + 62+ 28

(a) How long does it take the medication to be most effective?

(b) How long after its administration is the medication ineffective?
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6. For the following rational functions, use algebra to find the domain, then use algebra or technology to
find (if any) the asymptotes (vertical, horizontal, or slant). (Each part is worth 10 points)
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7. Let f(z) = 4z — a® and g(z) = 3z + 7. Compute (g — f)(z) and (f - g)(—1).
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8. Let g(x) = 5z — 1 and f(x) = 2* + 3. Compute (f o g)(z) and g(f(—1)).

(062 J(300) = (523 2 B 2)(5) + ()7 42

— 26 0K +4

%(%("l)) 5 6((,;)’?{- ?‘)) -] - 5(1,«) “| = /9




9. Find the inverse of the function f(x) = 1 — /22 and check your result.
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